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A - EHl (A7 Co) BERRITRE m3 48.1 48
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AV —MEEMEY THL (F#iCo) LARREHE (HBE. HEB HEFEESER m3 13.58 14
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kg EMEET L=1000 UZE!M{AI;&57ke {& m 42 42
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BRL 1. 80m3
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2. 0%0. 9%1. 66=2. 98m3
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Q%:B1E Rl (0. 46+0. 30)/2%0. 5=0. 19
0. 19%15. 74=2. 99m3
HBERL 2. 99m3
rRL (BEYS5vv—F52RC-40)

4. 65%0. 9%2. 9=12. 13m3
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*4. 6=87.21m3
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(5. 15%3. 4— (0. 6%1. 5+0. 6%1. 4+0. 6x1. 1%2+0. 6%1. 8+0. 3x0. 3*3. 14*2) ]%0. 2=2. 56

=t 10. 83m3
DQR&E HEA 1. 80+2. 99+10. 25=14. 32m3
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rRE 2.98+12. 134+87. 21=102. 32m3

vy )—rERYEL 0.84+1.91+10. 83=13. 58m3



